1290 Super Duke GT, white 2019 <2019><EU><F9903SF>

TANK, SEAT
51519
Pos Part Number Description Additional Text Quantity

1* 61507013044CB Fuel tank SD-GT Pitch black EU 1.00
2 61507008000 Fuel tank cap KTM RACE ON 1.00
3* 61507040000 Driver seat complete 1.00
4* 61507047000 Passenger seat 1.00
5 61407080000 FUEL LEVEL SENSOR 1.00
6 58507003200 Fuel cock cmpl. 2.00
7 0912050253 AH SCREW DIN0912-M 5X25 6.00
9* 61507058000 Tank cover 1.00
10 0025060126 HH collar screw M6x12 TX30 4.00
11 60006001021 Distance rupper airbox 03 6.00
12 61407016050 FUEL HOSE DKK 1.00
13 62607016044 FUEL HOSE CPL. 1.00




14 0912080403 AH collar screw DIN0912 M8x40 4.00
15 61007060000 collar bushing, bearing, outsi 4.00
16 61007065000 collar bushing, front tank hol 8.00
17 7720701000030 PLUG CPC 1.00
18 5850701050030 Clutch CPC PLCD17005, black 1.00
19 58031005000 CLAMP YDNAC 10128 12MM FOR 12 LITER TANK 2.00
20 61407018000 TANK COMPENSATION TUBE 1.00
21* 61507058050 RRS antenna support 1.00
22 69008021160 special screw M5x12 2.00
23 0912050163 AH collar screw DIN 912 M5x16 2.00
24 58407011100 SCREW FOR SEAT M6X11,5/8 4.00
25 60307008190 GASKET TANK CAP 1.00
26 60307080090 Gasket fuel lever sensor 1.00
27 00050157706 Variable one-ear clamp 15.7mm 5.00
28 60007126001 HOSE 5,4X9,4 NBR, METER 1.00
29 58007117000 YDNAC-CLAMP 10107 10MM 1.00
30* 61508050000ABA Fuel tank spoiler left WITH DECAL 1.00
31* 61508051000ABA Fuel tank spoiler right WITH DECAL 1.00
33* 61608098000 Decal 3D "KTM" 17 2.00
34* 76008052050 RUBBER SLEEVE 5X7.6X13MM 2.00
40 61306095010 INSULATION MAT MIDDLE 1.00
42 61306095020 INSULATION MAT L/S 1.00
43 61306095030 INSULATION MAT R/S 1.00
44 61408015030 METAMOLL F. TAIL LIGHT COVER 2.00
50 61407040050 SEAT COVER DRIVER 1.00
51 61407047050 SEAT COVER SOZIUS 1.00

* = New part




